
 

2021_2 RPCLEAN ASSEMBLATI | TB4-RP-TWIN

Image T blustar Code Unit Material Description Descrizione

DISTINTA 

BASE

Qty.Needed

TB4-RP-SINK PCS Multi-Material
Tank x RP-Clean & RP-

Twin

Serbatoio x RP-Clean & RP-

Twin
2,00

TB-ACC-CAP-003 PCS Multi-Material Cap Kit for Hand-Wash Kit Tappo per Lavamano 2,00

TB3-LK-01 PCS

Multiple Material 

& HDPE Plastic 

with 8-Year UV 

Resistant Additive

Latch Key to Secure and 

Open the Large and 

Small Latches & Cap 

Top

Chiave in Plastica per le 

Maniglie a Scatto 
2,00

TB4-RP-02 PCS Stainless Steel

Cylindrical Head-Screw 

with Hexagon Socket 

M5x10

Vite 5x10 a testa cilindrica 

bombata con esagono 

incassato

8,00

TB-TAP-001 PCS Plastic Plug hole Tappo di Scarico 2,00

TB-WSH-001-

10MM
PCS Plastic

Water Spout for Sink / 

RP CLEAN

Rubinetto /Becco d'acqua 

per il lavamano / RP 

CLEAN

2,00

TB-WSH-004 PCS Plastic Drain Cover 
Piletta Tappino filettato 

con fori
2,00

TB4-RP-03-TWIN PCS Plastic

KIT RP TWIN BASIC 

composed by : n° 2 

Angled Nozzle - n° 2 

Straight Hose 

Connectors M 3/8 - n° 2  

sleeve - n° 2 Straight 

Hose Connectors M 

3/4x12

Kit Bucchi RP TWIN BASIC 

composto da : n° 2 gomito 

90°- n° 2 portagomma 

diritto M 3/8 - n° 2 

Manicotto - n° 2 

portagomma diritto M 

3/4x12

1,00

CIRC-N-I-07 PCS 12X20

Metal Hose Clamp - 

Small

12x20

Fascette Piccole 12x20 8,00

KIT-RP-TWIN-

BASIC
PCS 18 D

Kit Black tube/Hose

2 pcs 55 cm each

2 pcs 98 cm each

2 pcs 1.80 mt each

Kit Tubi neri

2 pz 55 cm ciascuno

2 pz 98 cm ciascuno

2 pz 1.80 mt ciascuno

1,00

TB-S-FTPUMP-

LIRO
PCS Multiple Materials

Small Foot Pump Left IN 

Right OUT

Pompa a Piede Left IN 

Right OUT
2,00

TB4-RP-08 PCS Plastic Mat Base for RP-Twin Tappetino Base x RP-Twin 1,00

TB4-RP-09 PCS Plastic
Dividing Panel for RP-

Twin

Paretina Divisoria x RP-

Twin
1,00



 

2021_2 RPCLEAN ASSEMBLATI | TB4-RP-TWIN

Image T blustar Code Unit Material Description Descrizione

DISTINTA 

BASE

Qty.Needed

TB4-RP-10 PCS Plastic
Connector Handles x RP-

Twin
Maniglia x RP-Twin 2,00

TB4-RP-11 PCS Plastic 27x100 Pin in ABS 27x100
Spinotto in ABS

27x100
2,00

TB4-RP-12 PCS Plastic 27x79 Pin in ABS 27x79
Spinotto in ABS

27x79
2,00

TB4-RP-13 PCS Stainless Steel
Countersunk Screw 

M8x120

Vite a testa svasata 

M8X120
2,00

TB4-RP-14 PCS Stainless Steel
Countersunk Screw 

M8x100

Vite a testa svasata 

M8X100
2,00

TB4-RP-15 PCS Stainless Steel
Countersunk Screw per 

pedana M8x20

Vite per pedana a testa 

svasata M8X20
4,00

TB4-RP-16 PCS Stainless Steel

Rounded Head Screw 

with Hexagon socket

M8x50

Vite per Paretina a testa 

bombata con esagono

incassato M8X50

2,00

TB4-RP-17 PCS Stainless Steel Nut M8
Dado cieco M8 per 

paretina
2,00

TB4-RP-18 PCS Stainless Steel Washer M8 Rondella M8 per Paretina 4,00

TB-ZFOLD-01 PCS
PLASTIC (30 H x 

10,5 D x 29 W cm)
Paper Dispenser

Dispenser fogli in carta 

asciugamani
2,00

TB-SOAP-01 PCS

PLASTIC MIX 

PARTS 0,550 L 

capacity

Soap Dispenser Dispenser sapone Liquido 2,00

TB-VIT-TUB-4X15 PCS Metallo Zincato Junction Screw 4x15 Vite cannocchiale 4x15 8,00

TB-VIT-4X10 PCS Metallo Zincato Junction Screw 4x10 Vite x cannocchiale 4x10 8,00

TB-ROND-D5-3 PCS Zinc coated
Washer for screw - D. 

5,3

Rondella Piana per vite 

cannocchiale D. 5,3
16,00



 

2021_2 RPCLEAN ASSEMBLATI | TB4-RP-TWIN

Image T blustar Code Unit Material Description Descrizione

DISTINTA 

BASE

Qty.Needed

TB-BLU-04 PCS ALUMINUM 5 X 25 Long Rivet 5x25 Rivetto Grande 5x25 1,00


